(0 @) (rad)

1072 2

.91&—_3;: | > ......! L .......! Liiun o v
- E . . - o
g 1-15_' 1 +% T HE N g 1=
T TH 0.8
0.9k F E
E + . H 0.6
0.8 1 2 3 1
10™ 1 10 0 .1 10°
TP, (PCA t% beamling
—=— DQMstep3_SoftQCD_CKF
—e— DQMstep3_SoftQCD_default
—+— DQMstep3_SoftQCD_defaultNEWT
=~ —~
= 1]
5] o T L L L LR TR
= =
~ —~
< =
o I
)
= 5
o]

Ratio

Ratio

o p/p.)

=
<

a(d cot(d))

=
<

1072

>
i
x

i

[y
TTTrprrT

o
N

1

2 3
TPlp?T (PCA t%obeamliné'p

[any
<
i

1072
1.4

12

0.8

107

I : 2 3
TPlpg)T (PCA t%)obeamlin%)o

1

................................

o
N

2 3
TPlp?T (PCA tjbobeamliné'f)



	Contents
	Page 1


